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1101 | K48 dbimE 250 2500 0 2500 10 0 0 0 1836 0 1620
EE 155 1550 0 1550 10 0 0 0 1620 0 972
RE 5 75 0 75 15 0 0 0 0 864 0
& 410 4125 0 4125
NB|FEFEAS [dtiEE 20 200 0 200 10 0 0 0 1728 0 1188
& 20 200 0 200
1141[54R BmE 4 20 0 20 5 0 0 0 3240 0 2916
& 4 20 0 20
1201[83% % 30 450 0 450 15 0 0 0 2916 0 2592
& 30 450 0 450
1203[F ¥Ry [RE 133 1330 0 1330 10 0 0 0 972 0 702
EF 170 2550 0 2550 15 0 0 0 1134 0 972
GhH 303 3880 0 3880
1207| B & [&0) 600 60 60 0
1221[=vE G 6 8 0 3
1227|k%E EE 180 72 72 0 0.4 135 0 113 0 0 0
2 if] 100 20 0 20 0.2 0 0 0 0 108 0
(&) 280 92 72 20
1245 /MR EE 425 170 170 0 0.4 167 0 103 0 0 0
Eh 675 220 170 50
1301 |HF RE 2 10 10 0 5 810 0 432 0 0 0
EmE 24 120 0 120 5 0 0 0 2700 0 2268
#mE 6 36 0 36 6 0 0 0 1620 0 1296
[E)) 432 286 10 276
1321 |81 JbiEE 66 330 0 330 5 0 0 0 3024 0 2592
ZiE 36 180 0 180 5 0 0 0 3024 0 2808
(&) 142 740 0 740
13B1E—<> [EE 300 45 0 45 0.15 0 0 0 119 0 103
(&) 420 63 0 63
1353| Tk =5 90 9 0 9 0.1 0 0 0 194 0 108
(&) 90 9 0 9
1401|425 Eh 3 6 0 6
1521 |83 ZiE 2 20 0 20 10 0 0 0 0 3672 0
Eh 2 20 0 20
1603|tz)L)— [E%H 5 50 0 50 10 0 0 0 2376 0 2052
Eh 5 50 0 50
16097 aval)  [dtiEE 90 720 0 720 8 0 0 0 4406 0 4018
=5 10 60 0 60 6 0 0 0 0 4320 0
(&) 100 780 0 780
1611[LAR &% 5 25 0 25 5 0 0 0 2484 0 1944
=% 10 100 0 100 10 0 0 0 3132 0 2376
Eh 15 125 0 125
1612| 4 =L 2R |EH 3 15 0 15 5 0 0 0 2484 0 1944
Eh 3 15 0 15
1627|S=F<k (&) 90 270 0 270
1705| A= =0 630 50 0 50 0.08 0 0 0 119 0 108
= H 7 28 0 28 4 0 0 0 0 5616 0
(D) 641 94 0 94
1715| K% = 20 2 0 2 0.1 0 0 0 594 0 378
Gh 20 2 0 2
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E& 1950 390 0 390 0.2 0 83 0 65
GhH 2220 417 0 417
1809[L&HL EF 2350 235 0 235 0.1 0 70 0 27
f=554 1200 240 0 240 0.2 0 0 76 0
& 3550 475 0 475
191595 e 10 10 0 10 1 0 0 648 0
& 10 10 0 10
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2103| EE A M A [FIFRIL 10 100 0 100 10 0 0 3780 0
GhH 10 100 0 100
2611|E4—7 [E 328 131 0 131 0.4 0 497 0 400
(&) 328 131 0 131
2616|]SAAL _ [ELWL 248 99 0 99 0.4 0 551 0 421
(&) 248 99 0 99
2701|7—JLR  |E%E 1 9 0 9 9 0 0 10800 0
(&) 1 9 0 9
2821 |BIER EE 107 54 0 54 0.5 0 432 0 281
[&0) 107 54 0 54
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